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CHAPTER 2

INCOME TAX CONCEPTS

___________________________________________________________________

DISCUSSION QUESTIONS

  8.
What are the two basic methods of accounting that may be used by taxpayers?  How do the two basic methods differ?


The two basic accounting methods that are acceptable for tax purposes are the cash method and the accrual method.  The basic difference between the two methods is the criteria used to determine the timing of the recognition of income and expenses.  


The cash method recognizes income when cash or its equivalent is received.  Expenses are deducted when they are paid.  That is, it is basically a cash flow system (although capital expenditures cannot be deducted in total in the period in which they are paid).


The accrual method recognizes income when it is earned (the receipt of cash or its equivalent is not a factor).  Expenses are deducted when all events have occurred that fix the liability for the payment and the amount of the payment can be reasonably estimated.  The payment of the expense is not a factor for accrual basis taxpayers.

 12.
Why does the doctrine of constructive receipt apply only to cash basis taxpayers?


The constructive receipt doctrine is used to determine when a taxpayer has received income.  This is critical for the cash basis taxpayer who recognizes income when it is received.


An accrual basis taxpayer recognizes income when the income has been earned.  Recognition is not contingent upon receipt of the income.  Therefore, the constructive receipt doctrine does not affect income recognition by accrual basis taxpayers.

13.
How is the wherewithal-to-pay concept different from the ability-to-pay concept?


The ability-to-pay concept is a general concept that states that each taxpayer should pay a taxed based on his or her ability to be able to pay the tax.  That is, those taxpayers with the most income should pay relatively more tax.  This concept leads to such things as progressive rate schedules, exemption deductions, etc., that are system-wide applications.


The wherewithal-to-pay concept is an income recognition concept.  It states that the tax on an income item should be levied in the period in which the taxpayer has the means to pay the tax.  It overrides accounting methods and other concepts (realization) and requires recognition of income items in the period that the taxpayer has resources from the transaction to pay the tax.  Thus, the concept is applied to specific transactions and is not a system-wide application.

16.
The legislative grace concept is both an income concept and a deduction concept. Explain how the application of the concept differs for income items and deduction items.


The legislative grace concept states that any tax relief provided is the result of a specific act of Congress that must be strictly applied and interpreted.  Exclusions from income and deduction allowances are both forms of tax relief and therefore, result from the legislative grace concept.


The difference in the application of the concept to income and deduction items is the approach taken in analyzing what is included in income and what is deductible.  The all-inclusive income concept states that all income received (earned) is taxable absent some specific provision in the tax law exempting it from tax.  Thus, the approach to income is to assume that everything is taxable and to look for those provisions that exclude income from tax (i.e., where legislative grace has provided tax relief).  


Deductions are just the opposite.  The business purpose concept states that an expenditure must have a profit motive in order to be deductible.  Therefore, when approaching deductions, the assumption is that items are not deductible and specific provisions must be found that allow the deduction (i.e., where legislative grace has provided tax relief).

PROBLEMS
18.
Which of the following are based on an ability to pay? Explain.

a.
State Y collects a sales tax of 5% on all purchases of goods and services.


A flat rate tax on the purchase of all goods and services is not a tax that is based on the amount that the taxpayer can afford to pay.  It is based on the taxpayer's consumption of goods and services, which is not specifically tied to income levels.  That is, there is some minimum level of purchases that all taxpayers incur, regardless of their income level.

b.
State X collects a sales tax of 5% on all purchases of goods and services but gives low-income families a tax credit for sales taxes.


The use of a tax credit for low income families would make the sales tax less regressive.  Properly constructed, such a tax credit could move the sales tax closer to a tax based on a taxpayer's ability to pay.

c.
Students at State University are given free parking in designated lots.  Faculty and staff members must pay $125 per year for parking at State University.


The fee structure is based somewhat on ability to pay regarding students versus faculty and staff.  However, within each of these categories various individuals would have greater ability to pay than others.  For example, the University President would have a greater ability to pay than a maintenance worker.  Thus, the tax is not totally based on ability to pay.

d.
Barton City charges all customers a flat monthly rate of $10 for garbage pickup.


Flat rate charges without regard to income levels are not based on ability to pay.  All taxpayers pay the fee without regard to their income level.

20.
Sheila, a single taxpayer, is a retired computer executive with a taxable income of $80,000 in the current year.  She receives $20,000 per year in tax-exempt municipal bond interest.  Adam and Tanya are married and have no children. Adam and Tanya's $80,000 taxable income is comprised solely of wages they earn from their jobs.  Calculate and compare the amount of tax Sheila pays with Adam and Tanya's tax.  How well does the ability-to-pay concept work in this situation?

Sheila's tax is $16,511.  Adam and Tanya's tax is $12,848.

Single rate schedule:

Sheila
$15,698.75  +  [28% x ($80,000 - $77,100)]  =  $16,511
Married rate schedule:

Adam & Tanya
$  8,772.50  +  [25% x ($80,000 - $63,700)]  =  $12,848

The difference in the tax rate schedules for single and married taxpayers reflects the greater ability to pay tax by single taxpayers at the same income level as married taxpayers.  However, in this case, the rate schedules do not adjust for the difference in economic incomes.  Sheila's economic income is $100,000 ($80,000 taxable income  +  $20,000 tax-exempt income).  Her effective tax rate on this income is 16.51% ($16,511  ÷  $100,000) versus a 16.06% ($12,848  ÷  $80,000) effective tax rate on Adam and Tanya's economic income.  Therefore, even though the tax rate structures reflect the ability-to-pay concept, other provisions in the tax law that exclude items from income serve to negate the effect of the tax rate structures. 

22.
Which of the following are related parties:


Related parties are defined to include members of an individual's family (ancestors, lineal descendants, and brothers and sisters) and entities in which the taxpayer effectively owns more than a 50% interest.

a.
Harvey and his sister Janice?


A sister is a related party.

b.
Harvey and the Madison Partnership?  Harvey owns a 60% interest in the  partnership.  Three of Harvey’s friends own the remaining partnership interest.


Because Harvey owns more than 50% of partnership, he and the Madison Partnership are related parties.

c.
Harvey and his grandfather Maurice?


A grandfather is an ancestor; Harvey and Maurice are related parties.

d.
Harvey and Noti Corporation? Harvey owns 40% of Noti Corporation.  Three unrelated parties own 20% each.


Harvey does not own (directly or indirectly) more than 50% of the corporation; Harvey and Noti are not related parties.

e.
Harvey and his uncle Elmer?


An uncle is not a related party; Harvey and Elmer are not related parties.

25.
Ed runs an auto repair business out of the garage attached to his personal residence. How should he account for each of the following items?


Under the entity concept, Ed must segregate the income and expenses associated with his auto repair business from those that are personal.  The importance of this segregation is that all trade or business expenses are deductible for adjusted gross income, while most personal expenditures are not deductible.  Those personal expenditures that are deductible must be deducted from adjusted gross income (itemized deduction).

a.
Cash received from repair services, $28,000.


The $28,000 is income from his business and is included in gross income from the auto repair business.

b.
Interest paid on his home mortgage, $7,300.


Because the garage is attached to his personal residence, Ed will have to allocate a portion of the interest paid to the garage for deduction as a business expense.  The remaining interest is deducted on his individual return as home mortgage interest, provided that he has enough deductions to itemize.  The allocation can be made on any reasonable basis; however the use of square footage is probably the best allocation basis for household expenses.

c.
Power jack hoist purchased at a cost of $12,000.


This is a business capital expenditure and must be capitalized and depreciated over its tax life.

d.
Electricity bills, $3,600. (Ed does not have separate electricity service to the garage.)


As with the mortgage interest, Ed will have to make an allocation of the electrical cost attributable to the garage.  The personal portion of the electric bill is not deductible on Ed's individual return.

e.
Checks received from customers that were returned by his bank, $1,600.  The bank charged Ed's account $35 for processing the bad checks.


Assuming that Ed is a cash basis taxpayer and the checks all relate to the current year, he would not have to report the $1,600 of bad checks as income because he does not have control over the income.  If any of the $1,600 had been reported as income in the previous year, Ed would be able to take a deduction for any income recognized that he was unable to collect in the current year.  The bank charge would be deductible as a business expense.

f.
Telephone bill for phone in the garage, $420. (Ed has a separately listed phone in his house.)


Fully deductible as a business expense because Ed has a separate personal phone line.  

g.
Advertising in the local newspaper, $800


The advertising cost is deductible as a business expense.

h.
Interest paid on home furniture loan, $600


Not deductible.  Personal interest, other than that on a home mortgage (or a home equity loan), is not deductible.

28.
Wendy owns 20% of the common stock of Britton Company.  During the current year, Britton reported a taxable income of $90,000 and paid $40,000 in cash dividends.  What are the income tax effects for Wendy of her investment in Britton Company. if Britton is organized as

a.
A corporation?


A corporation is a taxable entity.  Therefore, Britton Company must pay tax on the $90,000 of taxable income.  Amounts paid to shareholders as cash dividends are taxable to the shareholders.  Wendy will receive $8,000 ($40,000  x  20%) of taxable dividends that she will report as income on her tax return.  Note that the $40,000 in dividends is taxed twice ( once as part of corporate taxable income and a second time when the earnings are distributed to shareholders.

b.
An S corporation?


An S corporation is a conduit entity.  The S corporation does not pay any tax on its income.  Each shareholder includes their proportionate share of the S corporation income on their return.  In this case, Wendy has $18,000 ($90,000  x  20%) of income that she reports on her tax return.  Dividends paid to owners of conduit entities are not taxed to the owners.  They are considered to be returns of investment.  Therefore, Wendy is not taxed on the $8,000 of cash dividends received.  The $18,000 of income recognized is added to her basis in the stock and the $8,000 of dividends received is deducted from her stock basis as a capital recovery.

35.
Tim has state income taxes of $4,500 withheld from his salary during 2006.  On his 2006 federal income tax return, Tim properly deducts the $4,500 as state taxes paid. Upon filing his 2006 state income tax return, he determines that his actual state income tax for 2006 is only $3,900, and the state sends him a $600 refund.  What are the tax consequences of the refund?  Explain in terms of the concepts presented in the chapter.


This is a classic example of the tax benefit rule that taxes any amount deducted in a previous year as income in the year of recovery to the extent that a tax benefit was received from the recovered amount.  Because Tim took a deduction for the entire $4,500 withheld, any refund of the state taxes must be included in income in the year of the refund.  In this case, the $600 refund is taxable in 2007.  Note that the annual accounting period concept does not allow Tim to go back and amend his 2006 return for the refund, because the events of each tax year are deemed to stand apart from each other.


In working this problem, you may want to note that if, under the administrative convenience concept, Tim had not itemized his deductions (i.e., he used the standard deduction in 2006) he would not have to claim the $600 refund as income in 2007 because he did not take an actual deduction for the state income taxes.  In addition, if Tim's itemized deductions did not exceed his standard deduction by more than $600, then only the excess of Tim's actual deductions over the standard deduction would be income under the tax benefit rule.  For example, if Tim's 2006 total itemized deductions were $5,350, then only $200 of the refund would be income.  This is the excess of total deductions over the 2006 standard deduction for a single individual ($5,350  -  $5,150).


How would your answer change if Tim's actual state income tax is $4,900 and he has to pay $400 with his state return?


Because Tim is a cash basis taxpayer, he must take deductions in the year in which the allowable expense is paid.  In this case, the additional $400 in 2006 state tax is paid in 2007.  Under the annual accounting period concept, Tim cannot go back and amend his 2006 state tax deduction for taxes paid in 2007.  Tim must deduct the taxes in 2007, the year that he pays the taxes.

36.
Jamal Corporation is an accrual basis taxpayer.  In 2006, Jamal writes off a $1,000 account receivable from a customer who has died.  In 2007, the former customer's estate sends Jamal a check for $600.  What are the tax effects of the receipt of the $600 in 2007?  Explain.


Because Jamal Corporation took a $1,000 bad debt deduction in 2006, the subsequent recovery of the $600 in 2007 will be included as income in 2007 under the tax benefit rule.  This will give Jamal the correct income on the receivable over the tax periods involved.  For example, assume that the receivable was generated in 2005.  As an accrual basis taxpayer, Jamal would have included the $1,000 as income in 2005.  In 2006, when it discovered that the customer had died and Jamal did not expect to collect the receivable, Jamal would deduct the $1,000, canceling out the income recognized in 2005.  The $600 receipt in 2007 represents the amount of income actually received from the customer.  Because the deduction in 2006 effectively eliminated any income recognition from the customer, the entire $600 is income in 2007 when it is received.  


How would your answer be different if Jamal were a cash basis taxpayer?


If Jamal Corporation is a cash basis taxpayer, it would not have previously recognized any income from the receivable.  Therefore, Jamal would not be allowed a bad debt deduction in 2006.  Thus, the corporation would include the $600 in income when the cash from the receivable was actually received in 2007.


Note that the effect of the tax benefit rule in this case is to tax the same amount of income ($600), regardless of the taxpayer's method of accounting.

52.
For each tax treatment described, determine the applicable income tax concept(s), and explain how it forms the basis for the treatment:

a.
Jackson owned coupon bonds with detachable interest coupons.  He detached coupons worth $5,000 and gave them to his son to buy a car.  Jackson is taxed on the $5,000 of interest, even though he never actually received the interest.


This treatment is prescribed by the assignment of income doctrine.  Because Jackson still owns the bonds, he is taxable on the interest, regardless of who actually receives the interest.

b.
Joan's barn on her ranch was destroyed by a tornado.  The barn had an adjusted basis of $24,000. Joan received insurance proceeds of $35,000 and built a new barn costing $40,000.  Joan does not have to recognize the gain realized on the barn in the current period.


This treatment is based on the wherewithal-to-pay concept.  Even though the destruction of the barn results in a gain of $11,000 ($35,000  -  $24,000), Joan does not have to recognize any gain currently because she has reinvested the entire $35,000 of insurance proceeds and has nothing remaining to pay tax on the gain.  Deferrals of gains on involuntary conversions are discussed in Chapter 12.

c.
Elvis borrowed $30,000 from University Credit Union to purchase a new X car.  He is not taxed on the receipt of the $30,000.


The receipt of the $30,000 is offset by the $30,000 obligation to repay the loan, resulting in no increase in wealth to Elvis.  The realization concept requires that an increase in wealth occur before income is present.  In addition, because of the obligation to repay the loan, Elvis does not have a claim of right to the $30,000.

d.
Kelley lost the diamond ring she received from her husband, Ian.  The ring had a basis of $2,000, and she received $3,000 from her insurance company.  Kelley used the money to pay off medical bills.  Kelley must recognize a $1,000 gain on the loss of her ring.


The all-inclusive income concept requires that all income received be included in gross income, unless a specific provision exempts the income from taxation.  There is no exclusion for gains on personal use property.  Further, Kelley could not appeal to the wherewithal-to-pay concept in this situation, because she did not replace the diamond ring.  NOTE:  Even if Kelley had replaced the diamond, the deferral rules for involuntary conversions (discussed in Chapter 12) do not provide for deferrals on personal use property other than the involuntary conversion of a principal residence.

54.
For each of the following situations, determine the deduction concepts involved, and explain how they form the basis for the tax treatment described:

a.
Individuals are allowed to deduct medical expenses.


The general rule is that no personal expenditures are deductible.  However, Congress has allowed (i.e., legislative grace concept) certain personal expenditures, including medical expenses to be deducted.

b.
Happy Burgers, Inc., owns a chain of drive-in restaurants in California.  Seeking to expand its operations, Happy spends $90,000 investigating locations in Oregon.  Happy decides that expanding into Oregon is not a wise move, but it is allowed to deduct the $90,000.


The business purpose concept allows the ordinary and necessary expenses of a trade or business to be deducted.  Since Happy Burgers is in the drive-in restaurant business, expending amounts to investigate expansion opportunities is a normal business practice.  The fact they did not ultimately expand into Oregon is irrelevant; businesses normally consider options that, after consideration, are determined not to be good investment opportunities.

c.
Lage's Licorice Company suffers a fire in one of its warehouses.  Equipment that cost $40,000 and that had been depreciated $15,000 is destroyed.  The equipment, which cost $50,000 to replace, is uninsured.  Lage is allowed to deduct a loss of $25,000 on the equipment.


The business purpose concept would allow deduction of the loss, which is limited by the capital recovery concept to the investment in the equipment.  In the case of depreciable property, the amount invested is measured by the property's adjusted basis, which is $25,000 ($40,000   -  $15,000).  Note that the wherewithal-to-pay concept is not applicable in this situation because there is no tax to be paid on a loss.

d.
While Ray is out to dinner one night, someone breaks into his personal car.  The thief steals his stereo and his golf clubs.  The fair market value of the items stolen is $300.  Because he has a $500 deductible on his insurance policy, he receives no reimbursement from his auto insurance.  To make matters worse, no tax deduction for his loss is allowed.


Ray's loss is personal in nature and would not be allowed under the general rule disallowing personal expenditures (legislative grace concept).  Congress has provided limited relief in this area, but only to the extent that the loss exceeds $100 and 10% of the taxpayers adjusted gross income.  Casualty and theft losses are discussed in Chapter 7.

62.
Davidson Industries manufactures golf course maintenance equipment.  The equipment comes with a 4-year warranty.  Davidson’s engineers estimate that approximately 10% of the equipment will be defective and require payment under the warranty.  Discuss the propriety of allowing Davidson a deduction for warranty costs in the current year if

a.
Davidson is a cash basis taxpayer.


Under the cash basis, Davidson would not be able to deduct any expenses until they were actually paid.  Therefore, the only deduction in the current year for a cash basis taxpayer would be for actual expenditures on defects during the current year.

b.
Davidson is an accrual basis taxpayer.


An accrual basis taxpayer deducts expenses when the liability for the expense has occurred and the amount of the expense can be estimated with reasonable accuracy.  In the case of contingent liabilities, such as warranties, the question is whether or not the amount of the liability can be fixed with reasonable accuracy.  The IRS has taken the position that estimated expenses cannot be accrued.  Their reasoning is based on the interpretation that because the payee on the warranty is unknown until an actual warranty payment is made, the amount of the liability cannot be reasonably estimated.  Therefore, the only deduction allowed in the current year for an accrual basis taxpayer is for actual expenditures on defects during the current year.  This accounting treatment for contingent liabilities is discussed in Chapter 5.

ISSUE IDENTIFICATION PROBLEMS


In each of the following problems, identify the tax issue(s) posed by the facts presented.  Determine the possible tax consequences of each issue that you identify.

63.
Junior bought some stock several years ago for $8,000.  He is thinking of selling and has 2 offers.  His broker told him he could sell the stock for $8,300 and would have to pay a $600 commission, for a net realization of $7,700.  His sister Bonnie offered to pay Junior $7,700 with no commissions paid on the transaction. 


The issue is whether Junior will be able to deduct the $300 ($7,700 - $8,000) loss if he sells the stock to his sister. Bonnie is a related party.  Transactions between related parties are given close scrutiny and a set of rules have been constructed to prevent manipulations between related parties.  Even though Junior would be selling the stock to Bonnie at fair market value net of commissions (what he would have received from an unrelated party), the tax law disallows the deduction of any loss on a sale between related parties.
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